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TOOOPXOW BYC UHTEIPAI, YAHAPYY[,

Topopxounont 2. y= f(x) pyHkuMiH (a,b) 3aBcap Aaxb OyX 9x QYHKUYYOUWH
onoHnormnr y = f (x) yHKLI3C aBcaH ToAgopxon Byc nHTerpan rax Hapraag
j f (x)dx
raX TAMOSINIHI.
Topopxonnontooc J' f(X)dx=F(x)+C /3/ rax 6uunx 6onHo.

OreraceH y = f(x) PYHKUMIH OYpbIH 39X OYHKL, 3CB3aN TOAOPXON ByC MHTerpanbir

0ogox yWngan Hb WHTerpanynan tom. WHTerpaneir 3eB  0OACOH  3CaXuur
AndbpepeHumanynax yunanumnr rynuyaTrax saMmaap LwanraHa.
Xuwass 2.

Icosxdx=sinx+C

jsinxdx:cosx+C
3
Ixzdx=X—+C
3

OuddepeHuman Toonnbir cyanax sisuag (a,b) 3aBcap A33p ererfgceH yHKy,

3H3 3aBCPbIH 3apMM H3r3H UAryy4a 033p auddepeHumanynargaxryi 6amk 6o0noxoir
Y3CaH 61naa. OH3 y33rgan (a,b) 3aBcap 033p 4 Buenargax 6onomxron Gangar. Ninm

yypaac, (a,b) 3aBcap 033p ereraceH yHKLU, 6yp ax yHKUTIM Banx andarymn.

XapaB (a,b) 3aBcap 093p erergceH y= f(X) YHKUMAH 3X OYHKL Oyroy
Togopxon 6yc nHterpan He opwnH 6ansan y = f(X) dyHKY MHTerpanynargax gyHkL,

raX HOpNaraAsHa. MeH, 3apuM (PyHKUYYOUNH WHTerpanbir afieMeHTap yHKUYYA33p
nnapxmmnnax donomxryn 6angar 6ereen ToArpUNAr “aBargaxryn MHTerpanyyn’ rax
Hopnaaar. MM uHTerpanyyablH TYraaman xanoapyyauiH sapumbir oypbasan:

J.sin xzdx,jcos x*dx, PpeHenuniiH nHTerpanyyn

_y2
Ie *“dx, NyaccoHbl nHTerpan

I wdx WHTerpan cunyc

I—dx WHTerpan kocuHyc

jld— WHTerpan norapudcm
nx



YAHAPYY[:

d(] f (x)dx)= f (0
bamanezaa: 13/-niAH X0€ép Tanaac andpdepeHuman aBbsl.
d([ f (0dx)=d(F(x) +C)=dF(x)+0=F'(x)dx = f (x)dx Gomk Gatnargas. OHo Hb

nHTerpanunax 6a auddepeHumanynax yanganyya xapunuaH ypeyy ©0roxbir
xapyynx 6anHa.
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2°. [dF(x) =F(x)+C
Eamaneaa:IdF(x) = I F/(x)dx = I f (x)dx = F(x) + C 6omx 6aTtnargas.
3°, j kf (x)dx =k j f(x)dx (k =0)

4°, Hf (x)+ g(x)}jx :J' f (x)de_rJ'g(x)dx lapanTne YaHap/

Bamanezaa: F'(x) = f(x),G'(X) = g(x)(x € (a,b)) 6awr. 3HAP3C
j f (x)dx = F(x) +C,, j g(x)dx=G(x)+C, 6onHo. (F(X)+G(x)) = f(x)+ g(x) 6aitHa.
Nnmpg
[(f00£g())x=F(x)+6(x) = ([ f (dx—C, )+ ([ g(x)ax +C, )= [ F (x)cx = [ g(x)ax
6ok YaHap 6atnargas.

5% Xapas If(x)dx:F(x)+C 6amBan  Va,b—const TOOHYyAblH  XyBb[

jf(ax+b)dx=1F(ax+b)+c 6OIHO.
a

XKuwas 3.

I5x2—6x+ 8 dx=5Ix2dx—6jxdx+ajx‘“4dx=§x3—Ex2+i o=
1 xix 3 2 -174
—5.1:3—3.1:2 —£+C

Ax
2.
_[ZSinx— 28 + 21 dx=2_[sinxafx—8j :&' +_[ ;&' =—2cosx—4arctgi+lh1x_2+c
x“+4 x°-4 x*+4 “x*-4 2 4 [x+2

Icos(ﬁx +6)de = %Icos(ﬁx +E)d(ox +6) == %sin( Sx+E)+C
3.



